Advanced Animal Breeding

Study Questions- set 3
Q1. You have the following population with genotypic values as specified:
                   A1A1              A1A2                      A2A2

                     110                   150                          90

Find the mean of the population for q = 0.4
Q2.  Find the breeding values and dominance deviations for the three genotypes in the population specified in Q1.    
Q3. Calculate the additive and dominance variances for the population in Q1.
Q4. You have the following information on two-locus genotypes. Decompose the total genetic variance into its components (additive, dominance and epistasis). 
	Genotype
	Genotypic value
	Frequency

	AABB
	100
	0.1024

	AaBB
	100
	0.3072

	AABb
	90
	0.0512

	AaBb
	80
	0.1536

	AAbb
	60
	0.0064

	aaBB
	50
	0.2304

	Aabb
	56
	0.0192

	aaBb
	50
	0.1152

	aabb
	40
	0.0144


